4,23 Solving Trig Equations with Sum/Difference Identities Wksht

Solve the equation for the variable on the interval [0, 27).
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Solve the equation for all values of the variable.

Q- Ao +3cosx =3 oY1= 0 ,&C@gy—‘ =0
¥ Sacho &Xl"%Y"f ‘A ')(:O :-% 5:17[

o / (X—-l)(’)("‘/z) 03
PA\WA! 2 .
D |G ary || +amnez

+ ol (5/)1)( COSTT 4 IS s.’rm) =

tdsinXiosm + Qeosxsn T

-+ Qs:hx(q) + Qbyfﬁz‘: O

+dm el

L2 e
sin X+clos X=
21

Replace U ?m} e oo

8. 2sin?x + 3cosx =3

3(11505"'& +3,5x =23 | @éﬁg- \)(Qc,éfy»1):U

10. cos (x +§) = COS (x—g) 1

1

e L/
CoSX o< - s’inxs,’nI%[ 3405)("’??/" siaxsin/{

—
[ —

~Isiaxsin V/J -




